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INES=D\, L = SH(BT) INE= R g=s =%

dE=A 6,544,380
14.09.01 Fe12 BRE20 HE &l X | 2AAM8lA Jte 170,000
14.09.01 A= HI2ES BlE X2 Helgs te 63,000
14.09.06 w202 Y230 OE IHESLSE 7L Helgs te 37,800
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@
R

PEO MIE NESHE 7Y Hes s JIE 81,000

14.09.05 | @2 Ng2)Y LAMFols A0 2 IHBEAE 2 (Hel&e IIE 37,800
14.09.11 AMHFE AL HIE XS elgs ote 390,000
14.09.11 SHEA XM K= AE A = 50,000
14.09.22 d=02 AKXt 8IS K= elgs JtEe 42,000
14.09.25 FHBEH AXIAMH XS REEYN I = 50,000
14.09.25 LAEUE 58 7 MELYN = IES Jte 27,760
14.09.25 SIS XA XN= 4 X At = 50,000
s A 999,360
SANEN 7,543,740




